
  

 

 

 

 

 

 

PART A — (8 × 5 = 40 marks) 

Answer any EIGHT questions. 

Each answer should not exceed 1 page. 

Each answer carries 5 marks. 

1. What are the characteristics of good researcher? 

 Kº |À» PÀÂ Bµõ´a]¯õÍ›ß £s¦PÒ ¯õøÁ? 

2. Examine the significance of delimiting a research 

problem. 

 B´Ä¨¤µa\øÚ°ß GÀø»ø¯ Áøµ¯Ö¨£vß 
•UQ¯zxÁzøu ©v¨¤kP. 

3. What is Ogive? What are the importance of Ogive? 

 ‘JøPÆ’ GßÓõÀ GßÚ? JøPÂß •UQ¯zxÁ[PÒ ¯õøÁ? 

4. What are the various types of hypotheses? Give examples 

for each type. 

 P¸x÷PõÒPÎß £À÷ÁÖ ÁøPPÒ ¯õøÁ? JÆöÁõ¸ 
ÁøPUS® Euõµn®  u¸P. 
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5. List out the characteristics  features of longitudinal 

study.  

 }sh Põ» Ai¨£øh B´Âß Sn|»[PøÍ 

Á›ø\¨£kzxP. 

6. Explain the importance of foot note and bibliography in 

educational research.  

 PÀÂ B´ÂÀ £UP[PÎß Ai°À GÊu¨£k® SÔ¨¦ 

©ØÖ® ¦zuP[PÎß ÂÁµ©õÚ AmhÁøn BQ¯ÁØÔß 

•UQ¯zxÁzøu ÂÍUSP. 

7. Find the value of correlation coefficient for the following 

data : 

 8=N , 544=∑x , 552=∑ y , 370282 =∑x , 381322 =∑ y , 

37560=∑xy . 

 R÷Ç uµ¨£mkÒÍ ÂÁµ[PÐUS Ehßöuõhº¦U öPÊ 

Psk¤i. 

 8=N , 544=∑x , 552=∑ y , 370282 =∑x , 381322 =∑ y , 

37560=∑xy . 

8. How can ‘Interview’ be taken as a tool of data collection? 

 ‘÷|µi¨÷£miø¯’ Â£µ[PøÍ ÷\P›US® J¸ •øÓ¯õP 

GÆÁõÖ HØÖUöPõÒÍ»õ®? 

9. Calculate Mean for the following distribution. 

CI f 

0-9 5 

10-19 3 
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CI f 

20-39 10 

40-49 4 

50-59 11 

60-69 4 

70-79 3 

 RÌPsh Aø»öÁsPÐUS \µõ\›ø¯U Psk¤i. 

CI f 

0-9 5 

10-19 3 

20-39 10 

40-49 4 

50-59 11 

60-69 4 

70-79 3 

10. Calculate standard deviation (SD) for the following data. 

 10=i , 50=∑ f , 8=∑ fd , 2042 =∑ fd . 

 R÷Ç öPõkUP¨£mkÒÍ Â£µ[PøÍU öPõsk ‘vmh 

Â»UPzøuU’ Psk¤i : 

 10=i , 50=∑ f , 8=∑ fd , 2042 =∑ fd . 

11. Distinguish between participant and non-participant 

observation. 

 ÷ÁÖ£kzxP: £[÷PØÖ EØÖ÷|õUPÀ; £[÷PØPõu 

EØÖ÷|õUPÀ. 
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12. Calculate the ‘t’ value for the following data. 

Group Mean Variance N 

A 66.5 6.75 125 

B 61.5 5.90 85 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁµ[PÐUS ‘t’ ©v¨ø£ 

PnUQkP. 

SÊ \µõ\› Â»UP–ÁºUP® GsoUøP 

A 66.5 6.75 125 

B 61.5 5.90 85 

PART B — (3 × 20 = 60 marks) 

Answer THREE questions. 

Each answer should not exceed 3 pages. 

Each answer carries 20 marks. 

13. (a) Describe in detail about the difficulties and 

limitations of the case study method. How would 

you effectively utilize this method in educational 

research? 

  uÛ¯õÒ ÷\õuøÚ •øÓ°ß SøÓPøÍ²® ©ØÖ® 

AvÀ Gvº£k® ¤µa\øÚPøÍ²® ÂÁ›. PÀÂ°¯À 

B´ÂÀ GÆÁõÖ C®•øÓø¯ vÓß£h 

E£÷¯õQ¨£õ´? 

Or 

 (b) List the different methods of sampling techniques. 

Explain any three methods with examples. 

  ©õv›U TÖ ÷uº¢öukUP¨£k® £À÷ÁÖ •øÓPøÍ 
£mi¯¼kP. H÷uÝ® ‰ßÖ •øÓPøÍ 
GkzxUPõmkhß ÂÍUSP. 
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14. (a) Explain the characteristic features of a good 

research tool. Construct a tool to measure the 

attitude of learners towards self financing college of 

Education. 

  J¸ ]Ó¢u B´ÄU P¸Â°ß £s¦PøÍ ÂÁ›. _¯{vU 

PÀÂ°¯À PÀ¿›ø¯¨ £ØÔ¯ ©õnÁºPÎß 

©Ú¨£õ[øP AÍUP J¸ AÍÄ÷Põø» u¯õ›UPÄ®. 

Or 

 (b) In an ‘ANOVA’ analysis, the following are obtained 

for B.S.S. (Variance between sample) df = 3;  

S.S = 42; for with in groups df = 36; S.S. = 72. What 

is the value of ‘F’? Explain the ‘F’ value. 

  ‘ANOVA’ PnUöPõßÔÀ SÊÂØS EÒ÷Í Aø©¢u  

df = 36; SS = 72. SÊÂØS Cøh÷¯ Aø©¢u  df = 3;  

SS = 42. ‘F’ß AÍÄ GßÚ? ‘F’ß ©v¨ø£ £ØÔ 

ÂÍUSP. 

15. (a) Explain the ‘survey method’ with suitable examples. 

What are the merits and demerits of the survey 

method? 

  ‘{PÌ{ø» AÍ¢uÔ B´ÂøÚ’ uS¢u 

Euõµn[PÐhß ÂÍUSP? Cuß {øÓ, SøÓPøÍ 

ÂÁ›. 

Or 
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 (b) Find the correlation between the sets of scores given 

below : 

A : 70 72 32 4 28 35 100 0 82 37 40 30 

B : 50 60  28 12 48 41 70 10 54 26 32 18 

  öPõkUP¨£mkÒÍ Cµsk Á›ø\ 
©v¨ö£sPÐUQøh÷¯²ÒÍ öuõhºø£ Psk¤i : 

A : 70 72 32 4 28 35 100 0 82 37 40 30 

B : 50 60  28 12 48 41 70 10 54 26 32 18 

  

————————— 


